AB=52 OK=8
OM1AC OKI1 BC Paauvychl, npoBefeHHble K KacaTeNlbHbIM
A B TOUKe KacaHUA.
=>0MCK - kBagpat => CM=CK=8
MycTb KB=x =>BL=x
MA=y=> LA=y
=>X+y=AB =52 =>y=52-x

M Lo : Mo Teopeme lNMndaropa
. CAZ+CB? =AB? => (8+x)>+(8+y)*=522
(8+x)*+H(8+52-x)*=522

K x = o
64+16x+x*+3600-120x+x2=2704

2x2-104x + 960 =0
x2-52x+480=0

D=2704-4%480=784
x1=(104+28)/2=66 x2=(104-28)/2=38
x1- He HOXOMHT, Tak Kak 066> 52 ( yacTh KareTa OOJIBIIE THIIOTEHY3bI - HE MOMKET OBITh).

KB=BL=38=> M A=AL=52-38=14
P(ABC) = AC+BC+AB= 8+8+14+38+52=110



